Directorate of Education, GNCT of Delhi
arise g3rer

Annual Examination
%811 / Class — XI (2022-23)

sfagr / History
3R dH 31 : 80 AT : 3°¢

Maximum Marks Time: 3 hours

- ATy fAéer:

(RTITH T TS MATE -, @, 7, T 3. (92T 9T & 34 92T &1
gt ges AT g1

(i) TS & - I 1§ 21 T T 1 37 & Fgidhedd T &

(iil) @S @ - U9 HEAT 22 F 27 T 30T 92T &, T T2 3 37 7 &
ST e ST 3 60-80 2ree} & 317 T @ AR

(iv) T@UZ I - YT TEAT 28 T 30 e I U2 g, Tcdeh T2+T 8 37k T g |
Ycdeh Y& T 3 300-350 sl § 31T 18T glaT AR |

(V) @S T - J%T T&IT 31 T 33 Tl 3T U & [olelel ciiel 3992+ g 3R
Yl 4 37l & &

(Vi) @US-3. - YT HE&T 34 ATATIT 3MRA &, T5ad 5 37 & | 39+ LIl &l
Ut U RATEd el §| AR Y 3T IR & 61y Heldel H{|

(vi) TRATT 3 TET T W FIS Rehod 787 &1 Ui, S 9= H AR
Rehed T fhT a7 & Q0 et & ol U faehed & 3K e |

(viii) 3T 3TTAREd, ST@T 3TaTF § dal T WU 3 92T & a1y
3TcIaT-31e19T fAcer fiGu e g

- General Instructions:

(i) Question paper comprises five Sections — A, B, C, D and E. There are
34 questions in the question paper. All questions are compulsory.
(ii)Section A — Question 1 to 21 are MCQs of 1 mark each.

(iii) Section B — Question no. 22 to 27 are Short Answer Type Questions,
carrying 3 marks each. Answer to each question should not exceed 60-80
words.

(iv) Section C - Question no 28 to 30 are Long Answer Type Questions,
carrying 8 marks each. Answer to each question should not exceed
300-350 words



(v) Section D — Question no.31 to 33 are Source based questions with
three sub questions and are of 4 marks each

(vi) Section-E - Question no. 34 is Map based, carrying 5 marks that
includes the identification and location of significant test items. Attach the
map with the answer book.

(vi) There is no overall choice in the question paper. However, an internal
choice has been provided in few questions. Only one of the choices in
such questions have to be attempted.

(viii) In addition to this, separate instructions are given with each section
and question, wherever necessary.

s -h
Section A

1. f=fefaa faa ) faar fifew:
HAACIAAT F WleTol-GATYAT T 33T AT

STaToT & 31fRrehier el 7 SR, AEY (HaTU) 3R ITHWOT Tt & fIw qead
$r T oA

SUehT WoT 31X UITelR & UST & efehsl, aNisal, afsal & qfge a1 A1d el &
T 15 @ 3T 8T 2T

3SR, 9T, IT I8 ST & [T g T T6T ITeTetr =TT 2|

e fdehod giav :

a3iRb

b3Rc

a, b3Rc

a,b,c3itd

Consider the following statements:

a) Mesopotamia lacked mineral resources.

b) In most parts of the south there was a shortage of stones for making
tools, seals (currencies) and jewellery.

c) The wood of Iragi palm and poplar trees was not particularly good for
making carts, wheelbarrows or boats.

d) There was no metal available for making tools, utensils, or ornaments.
Choose the right option:



aandb
bandc
a,bandc
a,b,c andd

2 AANTAAT H I8 AT & TR & S F AT qET & -
1. A IPR & A

2 ST & FelcHs AR &1 faorra v

3. 91631 SITIR o hal & ¥ # fashfad g% 3R

STl AT AATEY SeaEd AT e & ¥ # fahfad g5
1,2,3,4

2,3,4

1,2, 3

3,4

What is correct about the types of settlements formed cities in
Mesopotamia -

1. These were of two kinds.

2. settlements developed artistic temples

3. settlements developed as centers of trade and

4. settlements developed as imperial settlement or cities

A. 12 3,4

B. 23,4

C. 123

D. 34

3. fArei@d Y+ )W Aar Hifav :

| AGCIETAAT S TS AT AT AT ARG 1 TUTeT, 2400 §.9, & dle,
Y- 37y 37T o o fora)

|| 3TFRET HTNT 3 HIATHR ST T RATST SHAT Tef T Tgoll AdTsar deh AT
2000 & 378 gut T ToldT @l

el fasheT gfav -

a) | TETE

b) Il TET &



c) I 3Rl = Tr g
d) | 3 11 ST el &

4.Consider the following Statements:

I. Sumerian, the oldest known language of Mesopotamia was gradually
taken over by the Akkadian language after 2400 BC.

[I. The custom of cuneiform writing in the Akkadian language continued for
more than 2000 years until the first century AD.

choose the correct option :

a) | is correct

b) Il is correct

c) Both I and Il are correct

d) Both | and Il are incorrect.

5. 3¢ HTIRCIST AT 3T5hIehT 2EX... & T2 o |
(@) 3HoodTel

b) TeatiaT
c) fgoar
d) =gfafsar

A~ A~ A~
N S N

6.Saint Augustine was bishop of the North African city of.......
(a)Annaba
(b)Algeria
(c)Hippo

(d)Numidia

7. UgdTel T hiA-H1/A HUT Tl 81k

TR SITeT T el 140-160 WS oh SRTeT TERRT ATHh heaRT H of ST 31T
AT|

SART Hiele ToT & HifaarrT 4Tl

ST U AT AT ST AH FUR AT |

AET AHTST Thicds ¥ 3RATGT T Hansit oo 3R BRI & LheH deh tholl
g3T AT|

rdentify which statement is/are correct:




(a) Spanish olive oil was carried in containers called amphorae
during140-160 C.E.

(b) Nero was the revolutionary from senatorial class.

(c) Draco was an emperor who brought labour reforms.

(d) Roman empire was extended from Scotland to borders of Armenia and
from the Sahara to the Euphrates.

8.511 ¥ 774 &A1 &Y 33T & AT 3R GaRT ford a7s¢ &K f&m arr &m?
. T o fafdenea
II. 3TTeT o thap,
1. 3l F AFaTsT
a) I, 11, 1l
b) II, Il
c) I, 1l
d) I, Il

Who was destroyed by the Arabs between the period around 511 to 774
C.E.?

|. Visigoths of Spain

[l. Franks of Gaul,

[ll. Lombards in Italy

a. L1, 1

b. I, I

c. I,

d. I, 1l

9.fFATATET YT W [GTIR &Y, Teh ol 3THRYA (A) IR gH Sl HROT (R)
o &Y H oldel fohaT a7 & | YT &l IfGT 3R 3ugerd fdehed ol =l U]
3f@Faa (A): a@uﬁ%@aﬁﬁ%%ﬁﬁﬁmﬁm
cof

HROT (R) : 519K el AR AT & hg I 7T

AR REAT TEr & 3R R, A ST T8r sarear g

A 3R R =T T8 § afhaT R, A T T8 sarear 781 ¢



ATE & IR R TEr LT &
R &ET & oifehel A TET 181 &

Consider the following statements, one labelled as Assertion (A) and other
labelled as Reason (R). Read the statements and choose the appropriate
option.
Assertion (A): Urban culture developed and these urban centres helped in
Renaissance.
Reasoning (R): Towns became centres of art and learning.

a) Both Aand R are correct and R is the correct explanation of A.

b) Both A and R are correct but R is not the correct explanation of A.

c) Ais correct and R is not correct.

d) R is correct but A is not correct.

10. Teh YoTRY T ATl o T Aleles & 47
|. I8 ARIRF 3R ATATHS T F TIEY gloT AT
|I. 9 o dr Afger g 3R o & fonare |
II. I ShaeT 3T TEATT &l UTeleT Hal
V.38 &3 &l AT g1 AR T
e femeq AT :
a) I, 11, 10, 1V
b) I, 11, 1l
c) I, I, IV
d) I, IV

What were the criteria for the eligibility of a priest?
I. He should be physically and mentally sound.
Il. He should neither be a woman nor a peasant.
[ll. He will observe celibacy throughout life
Iv. He should have knowledge of religion.
Choose the right option:

a) I, Il, I, IV

b) I, 11, 1l



c) I, 1l IV
d) I, IV

11 STeATTH (A S & Tafed -
. wrE # AIRSTERT (F2figer) &1 fAaATor
II. (T & $ATAh 3ehlel
Il . Sefeh 3Y
V. 9IS 3R Whie & ofrer &} HTeT T Jeor
a) LI IV, Il
b) I, 11 1I, IV
c) I, 1, 1N, IV
d) 1,11 1V, 1

Arrange in chronological order-
|. Cathedrals being built in France
II. Great famine in Europe

lll Black Death
IV Hundred Years War between England and France
a) LIL, IV, 1l
b) I, Il I, IV
c) I, 1,1, IV
d) 1,11, 1V, 1l

12. SITYTeT Sl & 3TEIFAhTehI0T &hT Hehl FTeh:
a) 3 9T qATC ATt 3R FafieT off|
b) PITel 3R 37T UTeh{deh THTAT T SR AT
¢) g TSET 3 JaTsErg TRy o7 Tafas aliss & Feavor e gaha &
3R TEr Ao & g&a A
d) F3 G H TaoT 73R |

Japan could modernize rapidly because :
a) She had sufficient means and machines.
b) There was repository of coal and other natural resources.



c) She could analyse the situation national and international the best
way and took right decisions.
d) There were bullions stock in several mines.

13. gfacig fava Jer & qTe; hIRAT T FadAT GiATRad i 15 or:
a)aﬁ?ﬁwﬁaamﬁwﬁrmwm
b)ﬁﬁm%sﬂmaﬂimwmﬁﬁ%ﬁwm
c) FIRAT T TadTAT & AT IRTSET T3 FT THST
d) FINATS YT T 3T TSI

The independence of Korea, after World War Il, was ensured due to:
a) Japan’s defeat and surrender in World War |l
b) Continued efforts of freedom fighters within and outside Korea
c) Support of international leaders for Korea’s independence
d) Temporary division of Korean peninsula

14. HVeT SART &I GUTTEN sl AT9H of T 31T Fifeh
a) 38 &b 4 fafaaf@a AT foham aram |
b) Ig &sC g 1T AT
c) Ig ATEATT AT TRreIr oX 3 am|
d) 3H YR &l fohw 1w fafaer 3 A= 31fORIRET Y J1eTagerd ara
I
Examination System was withdrawn by China because
a) It was not regulated properly.
b) It was corrupted.
c) It was based on classical Chinese learning.
d) The civil and military officials so recruited were found unsuitable.

15. eI f@a @ fha gor # 9 3R SUiferes < & @1 46y dise & fov

IICEET YU TaTelet §31T?
a)
b) fEagarels
c) W

d) a 3R bg=r



Protestant reformation movement for breaking the connection with the
Pope and the Catholic Church active in which of the following countries?
a) Germany
b) Switzerland
c) France
d) a and b Both

16. T = ferad se ol 3 &
a) STHIET ST forely T T8
b) Hel arfaat $r sfa
)u—zrqfrm‘rﬁ?raqﬁ
d) srvarfert 4 syf

The term Terra Nullius means:
a) Land belonging to nobody
b) Land belonging to natives
c) Land belonging to the state
d) Land of immigrants

17. 3 7 A TFFA T AR o ARTRE &7 IV olfeheT 38 AT T
.
a) 35¢ ATTREdT & TR T STTam
b) 3T HIY JUUIT o131t & FHATST STagR fohdT STTam
C) JeThT LU H §TA&TT sTaT TohdT ST 3R 3TRETOT I IW@T SATTI
d) 3¢ TATHTAS AR RAT TeTeT T SATTaf|

A number of native people became citizen of USA but on condition that-
a) They shall be given citizenship right
b) They shall be treated at par with Europeans
c) Their traditions shall not be interfered with and reservation shall be
sustained
d) They shall be provided with administrative jobs.

18. T3l WIeT HINAl b [hd Shaled T FoHdloed & ?



a) fopara

b)

c) %‘f@'ﬂﬂ
d) et

To which Mongol tribe did Genghis Khan belong ?
a) kiat
b) Hun
c) Phoenician
d) Qureshi

19. T3V WTeT T HATAT T ATH FIT AT ?
a) 3ol — 3
b) BIfdAT
c) o ar
d) ®feT

What was the name of the mother of Genghis Khan?
a) Hoelun- lke
b) Fatima
c) Razia
d) Rubina

20. 38 facarsT & A sasv fSas I8 d% fGar & sfagm shadr
Tateifaes sfagrd & aR H J¢T § e SOH AT FaY HR FAgleT
el & Sitae § anfAer £

a. SIFg HigH

b. 3Foist HiaATH

c. SIFY sdldh

d. A% sellh

Name the scholar who argued that history is not all about political history but
also includes international relations and lives of great people.



James Cunnigham
Alexander Cunnigham
James Bloch

Marc Bloch

o 0 T w

21. fohE a¥ 3ARIT S YT T AT gATT THIRAT F3T?
a. 1508
b. 1507
1509

. 1510

o o

The year in which Amerigo de Vespucci’s Travels was published was

a. 1508
b. 1507
c. 1509
d. 1510
Ts-9
oTE ST R
Section B

Short Answer Type Question:

22. UHT FTHTSH S IRTT ST T AT 1 guTet HifSw]
ar
UHT GIHTST H TG AT o Hohe ahl SATEIT hifoIT|

Describe the condition of Slaves during the Roman Empire.
Or
Explain the Third century crisis in the Roman Empire .

23. U o9t o fore AArderfaan 2t Agcayor ar

Why was Mesopotamia important to Europeans?



24, "IN WIeT T VT 3TATSUIT HThr g, Ak T I o [T Tgef3il ol
5 THTE A UTATALT o Teeiet 3R Seeiel BT SoTehy &7 bl TR 2|
AT SgIetT |

“Military achievements of Genghis Khan were largely a result of his ability to
innovate and transform different aspects of Steppe combat into extremely
effective military strategies”. Justify.

25. HETToNTT HAT ST FT I AT ?

What was the function of medieval Monasteries?

26. 3T AR o FHel AT 71 3T SHdeT &l el fehar?

How did the native people of North America lead their life?

27. A GURT T Teh Aca U REHT IHTEUT T T AhIRIUT AT | FHSTEAT|
AT
ST # 1870 & G2Ieh & & T IS 775 Thel TUTTell hl 0Te HITIT|

” An important part of Meiji reforms was the modernizing of the economy.”
Explain.

Or
Describe the new school system introduced in Japan from 1870s.

s T
&g 3afia ueaT
Section C
Long Answer Type Questions

28. ATINCTIAAT F BN ANRI0T o fAIT 3TaRTeh et &7 Ai?

What were the necessary conditions which led to the early urbanization in
Mesopotamia?

or
AfeX ﬁ@tﬁafilm@rm-qja FTTh Hscdqj fear | feoquft|

Temples were an important part of Mesopotamian culture. Comment.

zaéméaﬁﬁmﬁmﬁgfm?mqﬁvwwﬁ?

Why was there debates within Christianity ?What were its consequences?




30. ATSATe T cAlehcld ﬁqﬁa—é?rwamzrm-s’ml HHASTAT|

mewmawa:ﬁﬁﬁzhaﬁwﬁ;wmwa‘é
faEarR & gAsET|

30. Transformation of taiwan into a democracy was a dramatic turn.” Explain.
or

Explain in detail how republic was established in China under the leadership of

Sunyat Sen and Chiang Kai Shek.

s g
AT TR 957

Section D
Source Based Questions

ﬁ@@ﬁ?ﬁﬁtwq?ﬁmwﬁwwﬁmﬁﬁa
et o I G|

SATSaEIT (Benedictine) #ST H, fﬁ&jﬁ*ﬁ'@@ﬁﬁ@ﬁwgﬁ?ﬁ
zﬁ%mﬁﬁmﬁé:nmwﬁlwwﬁaﬁﬁmaémwm
ST T8T| 38 Y& & $S [TH $H TR 8

AR 6 ; RT3 T Sictey b 3T ofT-Haf & & S e

ITEATT 7 : TqToHar &7 3727 § 3TT ITeleT |

31eaTy 33 : frdt ot gy o sl wofar s1é1 Taeh anfgu|

AT 47 : 3TeIET HTcHT 1 2 &, ATV THET 3] TRETora o [ fed
T & TR A 3R e Hel & 9T UTe e AR

I 48 : 7S 3H YhR Sallol ANR T bl ITALThdT hl THE cN—dk’ ST,
qFhT 3T, FIARATST FHT IHAT HIAT & 3 & |
gQeT :
31(1) 3UGerd THIHAT T TTelel =t T ITUET fohad &t a7g 2
31(2)%&13ﬁa#aﬁazﬁ34mﬁrﬁﬁé‘r€ra1?ﬁaﬁ?
31(3) 3T AT STl & b TRvag3it 3iR ReIforalt & 3rvar @rel worg Ry
3T9ETT 8 T AT 2A7?

Read the following source carefully and answer the following MCQs by
choosing the most appropriate option.



In Benedictine monasteries, there was a manuscript with 73 chapters of rules
which were followed by monks for many centuries. Here are some of the rules thy
had to follow:
Chapter 6: Permission to speak should rarely be granted to monks.
Chapter 7: humility means obedience
Chapter 33: No monk should own private property.
Chapter 47: Idleness is the enemy of the soul, so friars and sisters would be
occupied at certain times in manual labour and at fixed hours in sacred
reading.
Chapter 48: the monastery should be laid out in such a way that all
necessities be found within it bounds: water, mill, garden, workshops.

31 (1) Who were expected to follow the above mentioned rules?

31 (2)Which permission was rarely granted to monks?
31 (3) How do you think friars and sisters were expected to spend their free time?

32. AT Gid T eeTqdeh U6 3R et fad geat & 3o |

writent g ferw wa fammer @ smreRe

=it @F & afyaet & faer o ww gae fae @ W wena € fom T A 3
Wi iR T8 e 37 W AfusR WA % 9% 98] ® 9 9gd | | @ 36 A
& =12 39 T et SEm wgd | 3 9wt 211220 € F frenR w anfuee w5 |
17,47,000, Wafs 1222 3. feua W anfurey +@ § 1600,000 3 1258 § FRRE T
anfude S 9T 8,00,000 T %1 99 T T SR TR A grifs w9 9 9 TEER
T T H 70,000, ek et ® 70,000 R Ffewm wa & T TR F 12,000 @0 H
YA SEd | g S g2

AETETe Sfaaaemil 3 gaa! &1 GEAl &1 AR H8 oan?

Tor@Erl o wrdt gfagas a3 " fF wE § 13,00,000 =0T 1 Ay T

I TH HEA &1 AT 39 WhR @ R e 5 a 1,00,000 v wfefEA e )

32 (1) Ig W HINNST IMHAVH & T HFAT FSA@TE 2 1

32 (2) A=l o 38 R STeTeTieT ohl TEHTT HeY ofamr? 2
32 (3) SIdeir T UT? 1

32.Read the following source carefully and answer the questions that follows:



Estimated Extent of Mongol Destruction

in the Kuhistan province, 12,000 individuals were executed.
How did medieval chroniclers arrive at such figures?

count the dead and each day they counted 100,000 corpses.

All reports of Genghis Khan's campaigns agree at the vast number of
people killed following the capture of cities that defied his authority. The
numbers are staggering: at the capture of Nishapur in 1220, 1,747,000
people were massacred while the toll at Herat in 1222 was 1,600,000
people and at Baghdad in 1258, 800,000. Smaller towns suffered
proportionately: Nasa, 70,000 dead; Baihaq district, 70,000; and at Tun

Juwaini, the Persian chronicler of the Ilkhans stated that 1,300,000 people
were killed in Merv. He reached the figure because it took thirteen days to

32(1) What does this source suggest about the Mongol onslaught ?

32(2) How did Juwaini calculate this massive loss of life?
32(3) Who was Juwaini? 1

33. frIfai@d aid & eareTqde 96 3R el & 3 S|

2

frertedt AfiEmEet (Niccolo Machiavelli) #1993 T4 & fifg (1513) & Wsed
o | 7TE & @aE & an § e ¥

“eTeatTE Al i AfE oo HiT € iR Few 3 fawat & an | 9 S
ared H #, # 7% wed € o ow of ms & e § wei e @ (favme
TFAN o a1 H, W S0 H 1 TR F T €) o T 36 1 3@ W § e
w00 & were @1 fier % g e #) 3 & e, @ S A e @
#3179 1 Fo@| FB ar 1 fedd 5 s F 6 o= F ardt e s
%; 79 i o ¥ 9 & =fE v odr T faveges; T
A drewd AR FIo; 0 dan AR wedt; U s e g wHe;
=fe e a0 ufes; e Frerve g = ; T sfega 360 oo UF
TR g fesn; e uiftds g 9 otk

Hfeaett 7 T o fF ‘medt T ¢ ¥ oI 97 A IR wmaE w1 weiE
& H §ad a9 ©d ¢ Hilh T 3 7 AT i 38 790l @ Wt o1
Hferct A @ fw 3o 19, vga F1 2 fF o s wg o s
Taef Zaa 21"

33(1)%%%%%%@@@#

33(2) HTST & Ycdah F & NS T afFaere 360 FAT §?

33(3)%@W3¢Qrﬁaﬁaﬁa—&mwm%? 2

1

1

1




Read the following source carefully and answer the questions that follows:

Niccolo Machiavelli wrote about human nature in the fifteenth
chapter of his book, The Prince (1513).

‘So, leaving aside imaginary things, and referring only to those
which truly exist, I say that whenever men are discussed (and
especially princes, who are more exposed to view), they are noted
for various qualities which earn them either praise or
condemnation. Some, for example, are held to be generous, and
others miserly. Some are held to be benefactors, others are called
grasping; some cruel, some compassionate; one man faithless,
another faithful; one man effeminate and cowardly, another fierce
and courageous; one man courteous, another proud; one man
lascivious, another pure; one guileless, another crafty; one stubbomn,
another flexible; one grave, another frivolous; one religious,
another sceptical; and so forth.’

Machiavelli believed that ‘all men are bad and ever ready to
display their vicious nature partly because of the fact that human
desires are insatiable’. The most powerful motive Machiavelli saw
as the incentive for every human action is self-interest.

33(1) What is the real nature of men according to Machiavelli? 1
33(2) What is the most powerful motive behind every human action? 1
33(3) What good qualities are mentioned in the given excerpt ? 2

gs 3.
AT 3R st
Section E
Map Based Questions

34.1 3¢oll & feu T AR R Fefaf@a & O fhedl oy Tt ar 1w |
(1) I3 (2) AfH (3) FelRH (4) VA (5) ST
34.2 3Toll o f&T T AT W 1-3 Sl IgATAT 7R 357k el 1 [T@u|

34.1 On the given map of Italy locate any two the following:
(1) Padua (2) Venice (3) Florence (4) Rome (5) Bologna

34.2. On the given map of Italy identify and write their correct names as 1-3.



e [ArATaTad w2t shae TiRead 3FHIGaRT o folT 92T T&aT 34 & TATT W &
34.1 3T & fohegl AT e a7 o | 3

34.2 ST T ITSTTAT T AT ST | |

343 TR DT T? 1

Note: The following questions are in lieu of question number 34 only
for visually impaired candidates:

34.1 Write the names of any three cities of Australia. 3

34.2 Name the capital of Japan. 1

34.3 Who were the Cherokees? 1



